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lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    
SOCIAL SCIENCE 
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(Academic/Open) 
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le; : 3 ?k.Vs ]  [ iw.kk±d : 80 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : A 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   
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 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 3 marks 

should not exceed 40 to 60 words.  

 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 

ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 

dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 

fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 
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   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. dkowj dkSu Fkk \ 1 

 Who was Cavour ? 

  2. fo;ruke dks vkSipkfjd vktknh dc feyh \ 1 

 ¼v½ 1887 ¼c½ 1945 

 ¼l½ 1947 ¼n½ 1946 

 When did Vietnam got its formal independence ?  

 (a) 1887 (b) 1945 

 (c) 1947 (d) 1946 

  3. dkSu-lh chekjh vesfjdk ds yksxksa ds fy, ?kkrd fl) gqbZ \ 1 

 Which disease proved a deadly killer for the 

people of America ?  

  4. vk/kqfud fgUnh lkfgR; dk iz.ksrk fdls dgk tkrk gS \  1 

 Who is known as the pioneer of modern Hindi 

Literature ? 

  5. 19oha 'krkCnh esa yanu dks lkQ djus ds fy, dkSu-ls dne 
mBk, x, \ 3 

 Which steps were taken to clean up London in 

the 19th century ? 
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  6. fo;ruke esa vkSifuosf'kd vFkZO;oLFkk cukus ds fy, Ýkalhfl;ksa 
}kjk mBk, x, fdUgha rhurhurhurhu dneksa dk o.kZu dhft,A  3 

 Describe any three steps taken by the French in 

Vietnam for building Colonial Economy.  

  7. ued ;k=k dh ppkZ djrs gq, Li"V dhft, fd ;g mifuos'kokn 
ds fo#) izfrjks/k dk ,d izHkkoiw.kZ izrhd FkkA  6 

 Discuss the Salt March to make clear why it   

was an effective symbol of resistance against 

Colonialism.  

vFkokvFkokvFkokvFkok    

OR 

 egkeanh ds Hkkjrh; vFkZO;oLFkk ij iM+s izHkkoksa dh ppkZ dhft,A 

 Explain the impact of the Great Depression on 

the Indian Economy.  

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) og LFkku tgk¡ tfy;k¡okyk ckx gR;kdk.M gqvkA 1 

  The place where Jallianwala Bagh massacre 

took place.   
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 (ii) og LFkku tgk¡ jksdS;k gqlSu us ,d ckfydk fo|ky; dh 
LFkkiuk dhA 1 

  The place where Rokeya Hossain founded a 

Girls School.  

 (iii) lkr Vkiqvksa dk 'kgjA 1 

  City of Seven Islands.  

 (iv) og LFkku tgk¡ flrEcj 1932 esa iSDV ij gLrk{kj   
gq,A 1 

  The place where Pact was signed in 

September, 1932.  

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 8 :   

 (i) tfy;k¡okyk ckx gR;kdk.M dgk¡ gqvk \   1  

  At which place Jallianwala Bagh massacre 

took place ?  
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 (ii) ml txg dk uke fyf[k, tgk¡ jksdS;k gqlSu us ,d 
ckfydk fo|ky; dh LFkkiuk dh FkhA   1 

  Write the name of the place where Rokeya 

Hossain founded a Girls School.  

 (iii) lkr Vkiqvksa ds 'kgj dk uke fyf[k,A     1 

  Write the name of the city of Seven Islands.  

 (iv) ml LFkku dk uke crkb, tgk¡ flrEcj] 1932 esa iSDV 
ij gLrk{kj gq,A     1 

  Write the name of the place where pact was 

signed in September, 1932.  

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. Jhyadk dh vkcknh esa lcls cM+k fgLlk fdl izeq[k lkekftd 
lewg dk gS \ 1 

 ¼v½ flagyh ¼c½ JhyadkbZ rfey 

 ¼l½ Hkkjrh; rfey ¼n½ eqfLye 

 Which major social group constituted the largest 

share in population of Sri Lanka ?  

 (a) Sinhalese (b) Sri Lankan Tamils  

 (c) Indian Tamils (d) Muslims  
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10. Hkkjrh; lafo/kku us fdrus Lrjh; 'kklu O;oLFkk dk izko/kku 
fd;k gS \ 1 

 ¼v½ nks  ¼c½ rhu 

 ¼l½ pkj ¼n½ ik¡p 

 How many tiers of government provides by 

Indian Constitution ? 

 (a) Two (b) Three 

 (c) Four (d) Five 

11. usiky rFkk cksyhfo;k ds la?k"kZ esa D;k ckr leku Fkh \ 1 

 What was common in both the struggle i.e. in 

Nepal and Bolivia ?  

12. vesfjdk ds ukxfjd vf/kdkj vkUnksyu dk eq[; mís'; D;k  
Fkk \  1 

 What was the main aim of Civil Rights Movement 

of United States America ? 

13. ySafxd vuqikr D;k gS \ Hkkjr dk ySafxd vuqikr fdruk gS \ 2 

 Define sex ratio. What is the sex ratio of India ? 

14. usiky esa mBs yksdra= ds vkUnksyu dk eq[; mís'; D;k Fkk \ 2 

 What was the main objective of Nepalese 

Movement for Democracy ? 
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15. xBca/ku ljdkj D;k gS \ 2 

 What is a Coalition Government ? 

16. ^ikfVZ;k¡ ns'k ds dkuwu fuekZ.k esa fu.kkZ;d Hkwfedk fuHkkrh gSaA* 
O;k[;k dhft,A  3 

 'Parties play a decisive role in making laws for a 

country.' Explain.  

17. yksdra= fdl rjg ,d mÙkjnk;h ljdkj dk xBu djrk gS \ 3 

 How does democracy produce an accountable 

government ? 

18. Hkkjr dh fo/kkf;dkvksa esa efgykvksa ds izfrfuf/kRo dh fLFkfr D;k 
gS \  3 

 What is the status of women's representation in 

India's Legislative bodies ? 

19. yksdra= esa jktuhfrd nyksa dh fofHkUu Hkwfedkvksa dh ppkZ 
dhft,A  6 

 State the various functions performed by political 

parties in a Democracy.  

vFkokvFkokvFkokvFkok    

OR 

 fo'o ds dqN ns'k yksdra= dh cqfu;knh pqukSfr;ksa dk lkeuk fdl 
izdkj dj jgs gSa \  

 How are some countries in the world facing 

foundational challenge of Democracy ?  
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   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    buesa ls fdl jkT; esa dkyh feêh ikbZ tkrh gS \ 1 

 ¼v½ tEew vkSj d'ehj  

 ¼c½ jktLFkku 

 ¼l½ xqtjkr  

 ¼n½ >kj[k.M 

 In which of the following states is black soil 

found ? 

 (a) Jammu and Kashmir  

 (b) Rajasthan 

 (c) Gujarat  

 (d) Jharkhand 

21. buesa ls dkSu-lh ,d jch Qly gS \ 1 

 ¼v½ pkoy  ¼c½ eksVs vukt  

 ¼l½ puk  ¼n½ dikl  

 Which one of the following is a Rabi Crop ? 

 (a) Rice (b) Millets  

 (c) Gram  (d) Cotton  
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22.    dkSu-lk m|ksx ckWDlkbV dks dPps eky ds :i esa iz;ksx djrk  

gS \  1 

 Which industry uses bauxite as a raw material ? 

23. dkSu-lk ifjogu lk/ku Hkkjr esa izeq[k lk/ku gS \ 1 

 Which is the most important mode of 

transportation in India ? 

24. ijaijkxr rFkk xSj-ijaijkxr ÅtkZ lalk/kuksa ds uke fyf[k,A  2 

 Write name of conventional and non-conventional 

power resources.  

25. m|ksxksa dh vofLFkfr dks izHkkfor djus okys nksnksnksnks HkkSfrd dkjd 

crkb,A   2 

 Write any two physical factors affecting location 

of industries.  

26. lM+d ifjogu ds rhurhurhurhu xq.k crkb,A   3 

 Explain three merits of Roadways.  
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27. pkoy dh [ksrh ds fy, mi;qDr HkkSxksfyd ifjfLFkfr;ksa dk o.kZu 

dhft, vkSj Hkkjr esa blds forj.k dk mYys[k dhft,A   6 

 What are geographical requirement for the 

cultivation of Rice also explain its distribution in 

India ? 

28. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= esa fuEu dks n'kkZ,¡ vkSj muds 

uke mudh fLFkfr ds fudV fyf[k, % 

 On the given outline map of India show the 

following and write their name near their 

situation : 

   (i) fVgjh ck¡/k   1 

  Tehri Dam 

 (ii) Hknzkorh yksg-bLikr la;a=   1 

  Bhadravati Iron-Steel Plant 

 (iii) iq.ks lwrh oL= dsUnz   1 

  Pune Cotton Textile Centre  
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¼¼¼¼dsoy n`f"Vghu dsoy n`f"Vghu dsoy n`f"Vghu dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½ijh{kkfFkZ;ksa ds fy,½ijh{kkfFkZ;ksa ds fy,½ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 28 :   

   (i) fVgjh ck¡/k fdl unh ij fufeZr gS \ 1 

  On which river Tehri Dam is constructed ? 

 (ii) Hknzkorh yksg-bLikr la;a= fdl jkT; esa fLFkr gS \ 1 

  In which state Bhadravati Iron and Steel 

plant is situated ? 

 (iii) iq.ks 'kgj fdl jkT; esa fLFkr gS \ 1 

  In which state city Pune is situated ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. miHkksDrk laj{k.k vf/kfu;e dc ykxw gqvk \ 1 

 ¼v½ 1986 ¼c½ 1990 

 ¼l½ 1965 ¼n½ 1988 
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 When did Consumer Protection Act applicable ? 

 (a) 1986 (b) 1990 

 (c) 1965 (d) 1988 

30. Hkkjr ds fdl jkT; esa izfr O;fDr vk; lcls vf/kd gS \ 1 

 ¼v½ iatkc ¼c½ dsjy 

 ¼l½ fcgkj ¼n½ gfj;k.kk 

 In which state the per capita income is highest ?  

 (a) Punjab (b) Kerala 

 (c) Bihar (d) Haryana  

31. lsok {ks= ls D;k vfHkizk; gS \ 1 

 What is meant by service sector ? 

32. lk[k fdls dgrs gSa \ 1 

 What do you mean by credit ? 

33. m|ksxksa dk muds LokfeRo ds vk/kkj ij oxhZdj.k dhft,A  2 

 Classify industries on the basis of their 

ownership.  

34. oLrq fofue; iz.kkyh ds rhurhurhurhu nks"k fyf[k,A  3 

 Write any three drawbacks of Barter system. 
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35. oS'ohdj.k ds Hkkjr ij vPNs izHkkoksa dk laf{kIr esa o.kZu 
dhft,A 6 

 Describe in brief good effects of Globalization on 

India.  

vFkokvFkokvFkokvFkok    

OR 

 Hkkjr esa jkstxkj l`tu ds ;ksxnku esa izkFkfed] f}rh;d vkSj 
r`rh;d {ks=ksa dh rqyuk dhft,A  

 Compare the contribution of primary, secondary 

and tertiary sectors in generating employment in 

India. 

s 
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Series : Sec. M/2020 

Roll No. 

lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    
SOCIAL SCIENCE 

(History, Political Science, Geography and Economics) 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 80 

Time allowed : 3 hours ] [ Maximum Marks : 80 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   
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 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 3 marks 

should not exceed 40 to 60 words.  

 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 

ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 

dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 

fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 
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   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. usiksfy;u lafgrk D;k Fkh \ 1 

 What was the Napoleonic code ? 

  2. ^n fgLVªh vkWQ n ykWl vkWQ fo;ruke* dk ys[kd dkSu Fkk \ 1 

 ¼v½ Qku cksbZ pkÅ  

 ¼c½ Qku pw f=Ug 

 ¼l½ gqbUg Qw lks  

 ¼n½ 'kkgh njckj ds vQlj 

 Who was the author of 'The History of the Loss of 

Vietnam' ? 

 (a) Phan Boi Chau  

 (b) Phan Chu Trinh 

 (c) Huynh Phu So  

 (d) The Officials of the Imperial Court 

  3. dkj mRiknu dks c<+kus ds fy, gsujh QksMZ us fdl rjhds dk 
iz;ksx fd;k \ 1 

 Which method was used by Henry Ford to 

increase car production ? 
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  4. ey;kye esa igyk vk/kqfud miU;kl dkSu-lk Fkk \  1 

 Which was the first modern novel in Malayalam ? 

  5. foDVksfj;k dkyhu fczVsu esa mPp oxZ ds yksx gkFk ls cuh phtksa 
dks izkFkfedrk D;ksa nsrs Fks \ rhurhurhurhu dkj.k nhft,A 3 

 Why in Victorian Britain, the upper classes 

preferred things produced by hand ? Give three 

reasons.   

  6. tkiku dh eqnz.k laLÑfr dh dqN egÙoiw.kZ fo'ks"krk,¡ crkb,A  3 

 Mention some of the important characteristics of 

printing culture of Japan.  

  7. lfou; voKk vkUnksyu esa vkSjrksa dh Hkwfedk dk o.kZu  
dhft,A  6 

 Explain the role of women in the Civil 

Disobedience Movement.  

vFkokvFkokvFkokvFkok    

OR 

 ^izFke fo'o ;q) vk/kqfud vkS|ksfxd ;q) FkkA* O;k[;k dhft,A 

 'The First World War was Modern Industrial 

War'. Explain.  
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  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 

n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) Hkkjr dh vkfFkZd jkt/kkuh dk ukeA 1 

  Name the economic capital of India. 

 (ii) og LFkku tgk¡ xk¡/khth us izFke lR;kxzg fd;kA 1 

  The place where Gandhiji organized first 

Satyagraha Movement.  

 (iii) og LFkku tgk¡ 1860 esa ,fYxu fey LFkkfir gqbZA 1 

  The place where Elgin Mill was established 

in 1860. 

 (iv) og LFkku tgk¡ fnlEcj] 1929 bZ0 esa iw.kZ Lojkt dh ek¡x 

dh xbZA 1 

  The place where Purna Swaraj was demanded 

in December, 1929 A.D.  
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¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 8 :   

 (i) Hkkjr dh vkfFkZd jkt/kkuh dk uke crkb,A  1  

  Write the name of the Economic Capital of 

India. 

 (ii) xk¡/khth us izFke lR;kxzg dgk¡ fd;k Fkk \   1 

  Name the place where Gandhiji organized 

first Satyagraha Movement.  

 (iii) 1860 esa ,fYxu fey dgk¡ LFkkfir gqbZ Fkh \   1 

  Where the Elgin Mill was established in 

1860. 

 (iv) fnlEcj] 1929 bZ0 esa ^iw.kZ Lojkt* dh ek¡x dgk¡ dh xbZ 
Fkh \        1 

  Where 'Purna Swaraj' was demanded in 

December, 1929 ?  
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   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. dkSu-lk ns'k lkFk vkdj la?k cukus dk mnkgj.k gS \ 1 

 ¼v½ Hkkjr ¼c½ vesfjdk 

 ¼l½ ikfdLrku ¼n½ Jhyadk 

 Which country is a example of coming together 

federation ? 

 (a) India (b) USA 

 (c) Pakistan (d) Sri Lanka 

10. czqlsYl jkt/kkuh gS % 1 

 ¼v½ csfYt;e dh  ¼c½ teZuh dh 

 ¼l½ cksyhfo;k dh ¼n½ jksekfu;k dh 

 Brussels is the capital of : 

 (a) Belgium (b) Germany  

 (c) Bolivia  (d) Romania  

11. jkT; iquxZBu vk;ksx dh fjiksVZ dks fdl o"kZ ykxw fd;k x;k \ 1 

 In which year the State Reorganization Commission 

Report implemented ?  
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12. Hkkjrh; turk ikVhZ dh LFkkiuk dc gqbZ Fkh \ 1 

 When was the Bharatiya Janata Party founded ? 

13. VkWeh fLeFk rFkk tkWu dkyksZl ls ind okfil D;ksa ys fy, x, \ 2 

 Why were the medals taken back from Tommie 

Smith and John Carlos ? 

14. efgyk laxBuksa vkSj dk;ZdrkZvksa dh ek¡x dk o.kZu dhft,A 2 

 Describe the demands of Women's Organizations 

and Activists.  

15. vizSy] 2006 ds yksdfiz; usiky vkUnksyu dk mís'; D;k Fkk \ 2 

 What was the aim of the popular Nepal 

Movement of April, 2006 ? 

16. Hkkjr esa rhljs Lrj dks vf/kd 'kfDr'kkyh vkSj izHkko'kkyh cukus 
ds fy, ljdkj us dkSu-ls dne mBk, gSa \  3 

 What steps have been taken by the government 

to make the third tier more powerful and effective 

in India ? 

17. jktuhfrd nyksa ds lkeus D;k pqukSfr;k¡ gSa \ 3 

 What are the various challenges faced by the 

Political parties ?  

18. yksdra= vU; izdkj dh ljdkjksa ls csgrj D;ksa gS \ 3 

 Why is democracy better than other form of 

governments ? 



 ( 11 ) 4808/(Set : B) 

4808/(Set : B)    P. T. O. 

19. fdUgha rhurhurhurhu rjhdksa dk lq>ko nhft,] ftuds dkj.k Hkkjr esa 
jktuhfrd vFkok yksdrkaf=d lq/kkj gks ldrs gSaA 6 

 Suggest any three methods by which political 

and democratic reforms can be done in India.  

vFkokvFkokvFkokvFkok    

OR 

 lkekftd foHkktu fdl rjg ls jktuhfr dks izHkkfor djrs gSa \ 

 How do social divisions affect politics ? 

   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    Tokjh; ÅtkZ fuEufyf[kr esa ls fdl izdkj dk lalk/ku gS \ 1 

 ¼v½ iqu% iwfrZ ;ksX; 

 ¼c½ vtSo  

 ¼l½ ekuoÑr 

 ¼n½ vpØh;  

 Under which of the following type of resource 

can tidal energy be put ? 

 (a) Replenishable  

 (b) Abiotic  

 (c) Human-made  

 (d) Non-recyclable  
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21. fuEu esa dkSu-lk m|ksx nwjHkk"k] dEI;wVj vkfn la;a=ksa dk fuekZ.k 
djrk gS \ 1 

 ¼v½ LVhy  

 ¼c½ ,Y;wfefu;e  

 ¼l½ bysDVªkWfud   

 ¼n½ lwpuk izkS|ksfxdh 

 Which one of the following industries 

manufactures telephones, computers, etc ?  

 (a) Steel  

 (b) Aluminium  

 (c) Electronic   

 (d) Information technology 

22.    ty nqyZHkrk D;k gS \ 1 

 What is water scarcity ? 

23. vk/kkjHkwr m|ksx dk mnkgj.k nhft,A  1 

 Give an example of basic industry.  

24. yksg vkSj vyksg [kfut esa vUrj nlnlnlnl 'kCnksa esa nhft,A  2 

 Distinguish between ferrous and non-ferrous 

minerals in ten words only.  
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25. ty ifjogu dk egÙo crkb,A   2 

 Explain merits of water transport.  

26. [kfutksa dk laj{k.k D;ksa t:jh gS \   3 

 Why need to conserve minerals ? 

27. Hkkjr esa lkSj ÅtkZ dk Hkfo"; mTToy gS] D;ksa \ 6 

 Why do you think that solar energy has bright 

future in India ? 

28. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= esa fuEu dks n'kkZ,¡ vkSj muds 
uke mudh fLFkfr ds fudV fyf[k, % 

 On the given outline map of India show the 

following and write their name near their 

situation : 

   (i) ujksjk ck¡/k   1 

  Naraura Dam 

 (ii) bfUnjk xk¡/kh vUrjkZ"Vªh; gokbZ iÙku 1 

  Indira Gandhi International Airport 

 (iii) lriqM+k rkih; ÅtkZ la;a=   1 

  Satpura Thermal Power Plant  
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¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kn`f"Vghu ijh{kn`f"Vghu ijh{kn`f"Vghu ijh{kkfFkZ;ksakfFkZ;ksakfFkZ;ksakfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 28 :   

   (i) ujksjk ck¡/k fdl unh ij fufeZr gS \ 1 

  On which river Naraura Dam is   

constructed ? 

 (ii) bfUnjk xk¡/kh vUrjkZ"Vªh; gokbZ vìk fdl jkT; esa fLFkr  
gS \ 1 

  In which state Indira Gandhi International 

Airport is situated ? 

 (iii) lriqM+k rkih; ÅtkZ la;a= fdl jkT; esa fLFkr gS \ 1 

  In which state Satpura thermal Power Plant 

is situated ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. th0 Mh0 ih0 fdu oLrqvksa o lsokvksa ds ewY;ksa dk ;ksx gS \ 1 

 ¼v½ e/;orhZ ¼c½ okLrfod 

 ¼l½ vfUre ¼n½ ldy 
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 Which goods and services are included in the 

value of G.D.P. ? 

 (a) Intermediate (b) Real 

 (c) Final (d) Gross  

30. Hkkjr esa eqnzk dkSu tkjh djrk gS \ 1 

 ¼v½ iz/kkuea=h  

 ¼c½ jk"Vªifr  

 ¼l½ fjt+oZ cSad vkWQ bafM;k  

 ¼n½ LVsV cSad vkWQ bafM;k 

 Who issue the currency in India ? 

 (a) Prime Minister  

 (b) President 

 (c) Reserve Bank of India  

 (d) State Bank of India 

31. Hkkjr esa ^jk"Vªh; miHkksDrk vf/kdkj fnol* dc euk;k tkrk   
gS \  1 

 When is the 'National Consumer's Right Day' 

celebrated in India ? 

32. NREGA dk iwjk uke D;k gS \ 1 

 Give full form of NREGA.  
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33. vn`'; csjkstxkjh ls D;k vfHkizk; gS \  2 

 What is meant by disguised unemployment ? 

34. eqnzk ds eq[; y{k.k@fo'ks"krk,¡ fyf[k,A  3 

 Explain the main features of money.  

35. Hkkjr esa lsok {ks= D;ksa bruk egÙoiw.kZ gksrk tk jgk gS \ rdZ 
nsdj le>kb,A 6 

 Why the tertiary sector is becoming the most 

important in India ? Give reasons in support of 

your answer.  

vFkokvFkokvFkokvFkok    

OR 

 Hkkjr esa _.k ds vkSipkfjd rFkk vukSipkfjd òksrksa dh rqyuk 
dhft,A 

 Compare the formal and informal sources of 

credit of loan in India.  

s 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   



 ( 4 ) 4808/(Set : C) 

4808/(Set : C)   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 3 marks 

should not exceed 40 to 60 words.  

 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 

ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 

dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 

fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 



 ( 5 ) 4808/(Set : C) 

4808/(Set : C)    P. T. O. 

   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. 1804 dh ^ukxfjd lafgrk* dks fdl uke ls tkuk tkrk gS \ 1 

 Which name was introduced for the 'Civil Code' 

of 1804 ? 

  2. Ýsap-baMks-pkbuk dh LFkkiuk dc gqbZ \  1 

 ¼v½ 1947 ¼c½ 1887 

 ¼l½ 1888 ¼n½ 1889 

 When was French-Indo-China established ? 

 (a) 1947 (b) 1887 

 (c) 1888 (d) 1889 

  3. ^lqYrkukt+ Mªhe* fdlus fy[kk \ 1 

 Who wrote 'Sultana's Dream' ? 

  4. tkiku dh lcls iqjkuh eqfnzr iqLrd dkSu-lh gS \ 1 

 Which is the oldest printing book of Japan ? 

  5. eqEcbZ ¼cacbZ½ dks ^liuksa dk 'kgj* D;ksa dgk tkrk gS \ rhurhurhurhu 
dkj.k nhft,A 3 

 Why is Mumbai (Bombay) known as the 'City of 

Dreams' ? Give three reasons.  
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  6. dkWuZ ykW lekIr D;ksa dj fn, x, \ dksbZ rhurhurhurhu dkj.k nhft,A  3 

 Why were the Corn Laws scrapped ? Explain any 

three reasons.  

  7. xk¡/khth us vlg;ksx vkUnksyu dks okil ysus dk QSlyk D;ksa 
fd;k \ 6 

 Why did Gandhiji decide to withdraw the Non-

cooperation Movement ? 

vFkokvFkokvFkokvFkok    

OR 

 eqnz.k laLÑfr us Hkkjr esa jk"Vªokn ds fodkl esa D;k lgk;rk  
dh \ 

 Explain how the printing culture assisted the 

growth of Nationalism in India.  

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) Hkkjr dk ,d izeq[k izslhMsalh 'kgjA 1 

  One main Presidency City of India. 
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 (ii) og LFkku tgk¡ Hkkjr dk igyk yksg ,oa bLikr la;a= 
LFkkfir gqvkA  1 

  The place where the first Iron and Steel 

Plant started.  

 (iii) og canjxkg tks 18oha lnh ds var esa gkf'k, ij igq¡p x;k 
FkkA 1 

  The Port declined by the end of the 18th 

century.  

 (iv) og LFkku tgk¡ vlg;ksx vkanksyu us fgald :i ys fy;k 
FkkA 1 

  The place where Non-cooperation Movement 

turned violent.  

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZdsoy n`f"Vghu ijh{kkfFkZdsoy n`f"Vghu ijh{kkfFkZdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½;ksa ds fy,½;ksa ds fy,½;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 8 :   

 (i) Hkkjr ds ,d izeq[k izsflMsalh 'kgj dk uke fyf[k,A 1  

  Write the name of any one main Presidency 

City of India. 
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 (ii) ml LFkku dk uke fyf[k, tgk¡ Hkkjr dk igyk yksg ,oa 
bLikr la;a= LFkkfir gqvkA    1 

  Write the name of place where the first Iron 

and Steel Plant started.  

 (iii) ml cUnjxkg dk uke fyf[k, tks 18oha lnh ds vUr esa 
gkf'k, ij igq¡p x;k FkkA      1 

  Write the name of the Port which was 

declined by the end of the 18th century.  

 (iv) vlg;ksx vkUnksyu us fgald :i dgk¡ fy;k \  1 

  Where was Non-cooperation Movement 

turned violent ?  

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. esokr fodkl lHkk dh LFkkiuk dc gqbZ \ 1 

 ¼v½ 1999 ¼c½ 2000 

 ¼l½ 2001 ¼n½ 2002 

 In which year Mewat Vikas Sabha was formed ? 

 (a) 1999 (b) 2000 

 (c) 2001 (d) 2002 
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10. f'k{kk] ou] etnwj la?k …………. ds vUrxZr vkrs gSaA 1 

 ¼v½ la?k lwph  ¼c½ jkT; lwph 

 ¼l½ leorhZ lwph ¼n½ ckdh cps 

 Education, forests, trade unions come             

under ………….. 

 (a) Union List (b) State List 

 (c) Concurrent List (d) Residuary powers  

11. fdl jkT; esa Hkkjr us vius ijek.kq ijh{k.k fd, \ 1 

 In which state India conducted its Nuclear Test ? 

12. nfyr lewgksa us Mjcu esa gq, la;qDr jk"Vª ds uLyHksn fojks/kh 
lEesyu esa fgLlk ysus dk QSlyk fdl o"kZ fd;k \ 1 

 In which year Dalit Groups decided to participate 

in the U.N. conference against racism in Durban ?  

13. Je dk ySafxd foHkktu D;k gS \ 2 

 What do you mean by sexual division of Labour ? 

14. ckelsQ (BAMCEF) dk eq[; mn~ns'; D;k gS \ 2 

 What is the aim of 'BAMCEF' ? 

15. /keZ vkSj jktuhfr ds fo"k; esa egkRek xk¡/kh ds D;k fopkj Fks \ 2 

 What were Mahatma Gandhi's views regarding 

religion and politics ? 
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16. nks-nyh; O;oLFkk D;k gS \ mnkgj.k nhft,A  2 + 1 

 What is bi-party or two party system ? Give 

example.  

17. ßyksdra= ukxfjdksa dh xfjek vkSj vktknh dks c<+kok nsrh gSAÞ 
O;k[;k dhft,A 3 

 "Democracy promotes dignity and freedom of 

citizens." Explain.  

18. efgykvksa ds lkFk vHkh Hkh dbZ rjg ds HksnHkko ,oa mRihM+u 
gksrs gSaA O;k[;k dhft,A 3 

 Women face discrimination and oppression in 

various ways. Explain.  

19. vk/kqfud yksdrkaf=d O;oLFkkvksa esa lÙkk dh lk>snkjh ds vyx-

vyx rjhds D;k gSa \ izR;sd dk ,d,d,d,d mnkgj.k nhft,A 6 

 What are the different forms of power sharing in 

modern democracies ? Give one example of each. 

vFkokvFkokvFkokvFkok    

OR 

 yksdra= dh izeq[k pqukSfr;ksa dk o.kZu dhft,A  

 Mention the major challenges of Democracy.  
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   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    iatkc esa Hkwfe fuEuhdj.k dk fuEufyf[kr esa ls eq[; dkj.k D;k 
gS \  1 

 ¼v½ xgu [ksrh 

 ¼c½ vf/kd flapkbZ 

 ¼l½ ouksUewyu 

 ¼n½ vfr i'kqpkj.k 

 Which one of the following is the main cause of 

Land degradation in Punjab ? 

 (a) Intensive cultivation 

 (b) Over irrigation 

 (c) Deforestation 

 (d) Over grazing  

21. buesa ls dkSu-lh ,d Qyhnkj Qly gS \ 1 

 ¼v½ nkysa  ¼c½ eksVs vukt 

 ¼l½ Tokj ¼n½ fry 

 Which one of the following is a leguminous crop ? 

 (a) Pulses  (b) Millets  

 (c) Jawar (d) Sesamum  
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22.    eksustkbV jsr esa dkSu-lk [kfut ik;k tkrk gS \ 1 

 Which mineral is found in Monazite Sand ? 

23. dkSu-lk 'kCn nks ;k vf/kd ns'kksa ds O;kikj dks n'kkZrk gS \ 1 

 Which term is used to describe trade between 

two or more countries ? 

24. xgu thfodk Ñf"k fdls dgrs gSa \ 2 

 Define intensive subsistence agriculture.  

25. ikbiykbu ifjogu dk egÙo fyf[k,A  2 

 Write merits of pipeline transport.  

26. vkS|ksfxd vofLFkfr dks izHkkfor djus okys rhurhurhurhu ekuoh; dkjd 
crkb,A   3 

 Name any three human factors for the location 

of an industry.  

27. xsgw¡ dh Ñf"k ds fy, mi;qDr HkkSxksfyd ifjfLFkfr;ksa vkSj Hkkjr 

esa blds forj.k dk mYys[k dhft,A   6 

 What are geographical requirements for cultivation 

of wheat also describe its distribution in India ? 
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28. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= esa fuEu dks n'kkZ,¡ vkSj muds 
uke mudh fLFkfr ds fudV fyf[k, % 

 On the given outline map of India show the 

following and write their name near their 

situation : 

   (i) ljnkj ljksoj ck¡/k   1 

  Sardar Sarovar Dam 

 (ii) fo'kk[kkiêue lkW¶Vos;j VsDuksykWth ikdZ 1 

  Visakhapatnam Software Technology Park 

 (iii) dkuiqj lw=h oL= dsUnz   1 

  Kanpur Cotton Textile Centre 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 28 :   

   (i) ljnkj ljksoj ck¡/k fdl unh ij fufeZr gS \ 1 

  On which river Sardar Sarovar Dam is   

constructed ? 
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 (ii) fo'kk[kkiêue lkW¶Vos;j VsDuksykWth ikdZ fdl jkT; esa 
fLFkr  gS \ 1 

  In which state Visakhapatnam Software 

Technology Park is situated ? 

 (iii) dkuiqj 'kgj fdl jkT; esa fLFkr gS \ 1 

  In which state Kanpur is situated ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. lkekU;r;k fdlh ns'k dk fodkl fdl vk/kkj ij fu/kkZfjr fd;k 
tk ldrk gS \ 1 

 ¼v½ izfrO;fDr vk;  

 ¼c½ vkSlr lk{kjrk nj 

 ¼l½ yksxksa dh LokLF; fLFkfr  

 ¼n½ mijksDr lHkh 

 Development of a country can generally be 

determined by : 

 (a) Its per capita income  

 (b) Its average literacy level  

 (c) Health status of its people  

 (d) All of the above  
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30. ,d oLrq dk vf/kdka'kr% izkÑfrd izfØ;k ls mRiknu] ………. 
{ks=d dh xfrfof/k gSA  1 

 ¼v½ izkFkfed  
 ¼c½ f}rh;d 
 ¼l½ r`rh;d   
 ¼n½ lwpuk izkS|ksfxdh 
 The production of a commodity, mostly through 

the natural process, is an activity in ………. sector. 

 (a) Primary 

 (b) Secondary 

 (c) Tertiary  

 (d) Information Technology 

31. oS'ohdj.k uhfr dc ykxw dh xbZ \ 1 

 When did the policy of globalization implement ? 

32. eqnzk dk dksbZ ,d,d,d,d dk;Z fyf[k,A  1 

 Write any one function of money.  

33. izfr O;fDr vk; dh ifjHkk"kk nhft,A 2 

 Define per capita income.  

34. jk"Vªh; xzkeh.k jkstxkj xkjUVh vf/kfu;e (2005) ds mís'; 
fyf[k,A  3 

 Explain the objectives of National Rural 

Employment Guarantee Act (2005). 
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35. r`rh; {ks= dk vFkZ fyf[k,A bl {ks=d ds fodkl ds fy;s 
mÙkjnk;h rÙoksa dk o.kZu dhft,A  6 

 What is meant by tertiary sector ? Explain the 

factors responsible for development.  

vFkokvFkokvFkokvFkok    

OR 

 dqN ,sls dkjdksa dh ppkZ dhft,] ftuls miHkksDrk dk 'kks"k.k 
gksrk gSA  

 Mention a few factors which cause exploitation 

of consumers.   

s 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 
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Please make sure that the printed pages in this 

question paper are 16 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   
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 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 3 marks 

should not exceed 40 to 60 words.  

 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 

vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 

ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 

dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 

fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 
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   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. tkWyosjkbu D;k Fkk \ 1 

 What was Zollverein ?  

  2. Vksafdu Ýh Ldwyksa dh LFkkiuk dc gqbZ Fkh \  1 

 ¼v½ 1905 ¼c½ 1906 

 ¼l½ 1907 ¼n½ 1908 

 When were the Tonkin Free schools established ? 

 (a) 1905 (b) 1906 

 (c) 1907 (d) 1908 

  3. ^fjaMjisLV* uked chekjh D;k Fkh \ 1 

 What was 'Rinderpest' ? 

  4. ^izkbM ,aM izsT;qfMl* dk ys[kd dkSu gS \ 1 

 Who is author of 'Pride and Prejudice' ? 

  5. oukZD;qyj izsl ,sDV dk o.kZu dhft,A  3 

 Describe the Vernacular Press Act.  
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  6. fczVsu dh efgyk dkexkjksa us fLifuax tsuh e'khuksa ij geyk D;ksa 
fd;k \ 3 

 Why women workers in Britain attacked the 

Spinning Jenny Machines ?  

  7. th-77 ns'kksa ls vki D;k le>rs gSa \ th-77 dks fdl vk/kkj 
ij czsVu-oqM~l dh tqM+ok lUrkuksa dh izfrfØ;k dgk tk ldrk  
gS \    6 

 What do you understand by G-77 Countries ? 

How G-77 be seen as a reaction to the activities 

of Bretton Woods twins ?  

vFkokvFkokvFkokvFkok    

OR 

 Hkkjr ds yksx jkWysV ,sDV ds fojks/k esa D;ksa Fks \ 

 Why were Indians outraged by the Rowlatt Act ? 

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) og LFkku tgk¡ 1820 esa loksZPp U;k;ky; FkkA 1 

  The place where Supreme Court was in 1820. 
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 (ii) Hkkjr dk lcls egÙoiw.kZ 'kgjA 1 

  Most important city of India.  

 (iii) og LFkku tgk¡ 1918 esa lwrh diM+k dkj[kkuk etnwjksa us 
vkUnksyu fd;kA 1 

  The place where Cotton Mill workers started 

movement in 1918. 

 (iv) og LFkku tgk¡ tujy Mk;j ds vkns'k ij xksyh pykbZ xbZA 1 

  The place where General Dyer's order to 

fire. 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 8 :   

 (i) ml LFkku dk uke fyf[k, tgk¡ ij 1820 esa loksZPp 
U;k;ky; FkkA      1  

  Write the name of the place where Supreme 

Court was in 1820. 
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 (ii) Hkkjr ds lcls egÙoiw.kZ 'kgj dk uke fyf[k,A  1 

  Name the most important city of India. 

 (iii) ml LFkku dk uke fyf[k, tgk¡ 1918 esa lwrh diM+k 
dkj[kkuk etnwjksa us vkUnksyu fd;kA    1 

  Write the name of the place where Cotton 

Mill workers started movement in 1918. 

 (iv) ml LFkku dk uke fyf[k, tgk¡ tujy Mk;j ds vkns'k 
ij xksyh pykbZ xbZA     1 

  Write the name of the place where General 

Dyer order to fire.  

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. Hkkjr esa ;gk¡ vkSjrksa ds fy, vkj{k.k dh O;oLFkk gS % 1 

 ¼v½ yksdlHkk  

 ¼c½ fo/kkulHkk 

 ¼l½ eaf=e.My  

 ¼n½ iapk;rh jkt dh laLFkk,¡ 

 In India, seats are reserved for women in the : 

 (a) Lok Sabha   

 (b) State Legislative Assemblies  

 (c) Cabinets  

 (d) Panchayati Raj bodies  
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10. fgUnh ds vykok …………. vuqlwfpr Hkk"kk,¡ Hkkjr esa gSaA 1 

 ¼v½ 21 ¼c½ 22 

 ¼l½ 23 ¼n½ 24 

 Besides Hindi, there are ………… scheduled 

languages in India.  

 (a) 21 (b) 22 

 (c) 23 (d) 24 

11. uxj fuxe dk jktuhfrd izeq[k ¼inkf/kdkjh½ dkSu gksrk gS \ 1 

 Who is the political head of Municipal 

Corporation ? 

12. ;ksnkZUdk dkSu Fkh \ 1 

 Who was Yordanka ? 

13. ,Ýks-vesfjdu dkSu Fks \ 2 

 Who were African-American ? 

14. ukjhoknh vkUnksyu D;k gS \ 2 

 What were Feminist Movements ? 

15. ncko lewg rFkk vkUnksyu ljdkjh uhfr;ksa ij izHkko fdl izdkj 
Mkyrs gSa \ 2 

 How pressure groups and movements exert 

influence on government policies ? 
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16. ßHkkjr esa tkfrxr ck/kk,¡ D;ksa VwV jgh gSaÞ \ O;k[;k dhft,A  3 

 "Why Caste barriers are breaking down in India" ? 

Explain. 

17. izkarh; ny ;k {ks=h; ny D;k gSa \ 3 

 What are state parties or regional parties ? 

18. mu ns'kksa dh rhurhurhurhu izeq[k pqukSfr;ksa dk mYys[k dhft, tgk¡ 
yksdrkaf=d izdkj dh ljdkj ugha gS \ 3 

 Analyse three major challenges before the 

countries which do not have democratic form of 

government.  

19. Hkkjrh; la?kh; O;oLFkk ds izeq[k y{k.kksa dk mYys[k dhft,A  6 

 Mention the major characteristics of Indian 

Federal System.  

vFkokvFkokvFkokvFkok    

OR 

 ßfo'o ds vf/kdka'k yksdra=ksa ds lkeus foLrkj rFkk yksdra= dks 
etcwr cukus dh pqukSrh gSAÞ dFku dh iqf"V dhft,A  

 "Most of the democracies of the world face the 

challenge of expansion and challenge of deepening 

of democracy." Justify the statement.  
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   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    fuEufyf[kr esa ls fdl izkUr esa lh<+hnkj ¼lksikuh½ [ksrh dh tkrh 
gS \  1 

 ¼v½ iatkc 

 ¼c½ mÙkj izns'k ds eSnku 

 ¼l½ gfj;k.kk 

 ¼n½ mÙkjk[k.M 

 In which one of the following states is terrace 

cultivation practised ?  

 (a) Punjab  

 (b) Plains of Uttar Pradesh  

 (c) Haryana  

 (d) Uttarakhand  

21. ljdkj fuEufyf[kr esa ls dkSu-lh ?kks"k.kk Qlyksa dks lgk;rk nsus 
ds fy, djrh gS \ 1 

 ¼v½ vf/kdre lgk;rk ewY;  

 ¼c½ U;wure lgk;rk ewY; 

 ¼l½ e/;e lgk;rk ewY;  

 ¼n½ izHkkoh lgk;rk ewY; 



 ( 12 ) 4808/(Set : D) 

4808/(Set : D)   

 Which one of the following is announced by 

government in support of a crops ?  

 (a) Maximum Support Price  

 (b) Minimum Support Price 

 (c) Moderate Support Price  

 (d) Influential Support Price 

22.    ijaijkxr ÅtkZ lk/ku dk dksbZ ,d,d,d,d mnkgj.k fyf[k,A  1 

 Write any one conventional energy resource.  

23. Hkkjr ds iwohZ rV ij fLFkr fdlh ,d,d,d,d cUnjxkg dk uke 
fyf[k,A  1 

 Write any one Sea Port of Eastern Coast of India. 

24. okf.kfT;d Ñf"k D;k gS \ 2 

 Define Commercial Agriculture.  

25. fofuekZ.k D;k gS \ 2 

 What is manufacturing ? 

26. ok;q ifjogu dk egÙo fyf[k,A   3 

 Explain merits of Air Transport.  

27. m|ksx fdl izdkj i;kZoj.k dks iznwf"kr djrs gSa \  6 

 How do industries pollute environments ?  
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28. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= esa fuEu dks n'kkZ,¡ vkSj muds 
uke mudh fLFkfr ds fudV fyf[k, % 

 On the given outline map of India show the 

following and write their name near their 

situation : 

   (i) jk.kk izrki lkxj ck¡/k   1 

  Rana Pratap Sagar Dam 

 (ii) bUnkSj lkW¶Vos;j VsDuksykWth ikdZ  1 

  Indore Software Technology Park  

 (iii) vgenkckn lwrh oL= dsUnz  1 

  Ahmedabad Cotton Textile Centre  

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½½½½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 

Candidates in lieu of Question No. 28 :   

   (i) jk.kk izrki lkxj ck¡/k fdl unh ij fufeZr gS \ 1 

  On which river Rana Pratap Sagar Dam is   

constructed ? 
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 (ii) bUnkSj lkW¶Vos;j VsDuksykWth ikdZ fdl jkT; esa fLFkr    
gS \ 1 

  In which state Indore Software Technology 

Park is situated ? 

 (iii) vgenkckn 'kgj fdl jkT; esa fLFkr gS \ 1 

  In which state Ahmedabad is situated ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. fdlh fo'ks"k o"kZ esa mRikfnr ………….. ds ewY; ds dqy 
;ksxQy dks th0 Mh0 ih0 dgrs gSaA 1 

 ¼v½ lHkh oLrqvksa vkSj lsokvksa  

 ¼c½ lHkh vfUre oLrqvksa vkSj lsokvksa  

 ¼l½ lHkh e/;orhZ oLrqvksa vkSj lsokvksa  

 ¼n½ lHkh e/;orhZ ,oe~ vfUre oLrqvksa vkSj lsokvksa  

 G.D.P. is the total value of ………….. product 

during a particular year.  

 (a) All goods and services  

 (b) All final goods and services  

 (c) All intermediate goods and services   

 (d) All intermediate and final goods and services 
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30. Hkkjr esa jk"Vªh; xzkeh.k jkstxkj xkjUVh vf/kfu;e dc ykxw fd;k 
x;k \  1 

 ¼v½ 2000 ¼c½ 2005 

 ¼l½ 2007 ¼n½ 2008 

 When did National Rural Employment Guarantee 

Act implement in India ? 

 (a) 2000 (b) 2005 

 (c) 2007 (d) 2008 

31. oS'ohdj.k ls D;k vfHkizk; gS \ 1 

 What is meant by Globalization ? 

32. vkfFkZd fØ;k D;k gS \ 1 

 What is Economic activity ?  

33. dsjy o e/; izns'k ds yksxksa ds iks"k.k Lrjksa dh rqyuk dhft,A 2 

 Compare the nutrition level of people of Kerala 

and Madhya Pradesh.  

34. [kqyh csjkstxkjh rFkk fNih csjkstxkjh ds chp foHksn dhft,A  3 

 Distinguish between open and disguised 

unemployment.  
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35. xzkeh.k lk[k ;k _.k D;k gS \ le;kof/k ds vuqlkj bls fdrus 
Hkkxksa esa ckaVk tk ldrk gS \ o.kZu dhft,A  6 

 What is rural credit or loan ? Classify it 

according to its time period and explain.  

vFkokvFkokvFkokvFkok    

OR 

 Hkkjr esa miHkksDrk ds vf/kdkjksa dk mYys[k dhft, rFkk izR;sd 
ij dqN okD; fyf[k,A  

 Mention the consumer rights in India and write 

few sentences on each.  

s 


